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e StESHMFI 2 (St SHIHA2Z 2tel) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
TH k22l ot 19,821,000 19,300,000 521,000
Mol & XHHol et 14,821,000 14,300,000 521,000
StESMUHFA 2L 2l (StESHMFA2 L 2al) 14,821,000 14,300,000 521,000
StE=SME 29 5,892,052 10,795,710 A 4,903,658
101 1A bl 362,306 416,843 A 54,537
M4 JI12ZHZEXNSES 362,306 416,843 A 54,537
OZ2MEHE 24 362,306
—Jles 47,4103 *30Y 168 238,947
— == 47,4103 «30H «45 64,004
Bl PN ECR= 47,4103 *30H «8 11,379
— 2+AlH| 3,000& +30H 168 15,120
—522fE 47,4103 1. 5+30H 8 17,068
—Az2telsg 8,880& *6Al 2t*30H »8& 12,788
—SHEHHE 225 100,000& 30X 3,000
201 LBt2E| 119,375 211,120 A91,745
01 At 22l 107,535 193,600 A 86,065
O e8| 104,543
—=MEES 7Y 50& *50,000& 2,500
—SHHE Zgy EY 2
70,0003 504 8 & 2,800
—HZU L HMEI A =2l
3,000,000& *23| 6,000
—Z2MWAE =8 300,000 *43| 1,200
—AEIIE NYE =3
4,147,000,000& *0.5% 20,735
—=MIte M= 7,000 *3000H 2,100
—SHEHE 293 Y| 1,000,000& »8& 8,000
—a==x 2 7,000,000& +8& 56,000
—AEJE M2 |2 16,0002 »8& 128
— HAAAE RAES 2,000,000& »23] 4,000
— 22X AtFordete] |
4,500 3 «30H 83 1,080
o1l =l 1,200
—=MEOE2el It HE=EFY
300,000& »4H 1,200
O= &l 1,792
—SHEHE 22 S A
7,000 4 H +82 8 1,792
02 8323l 11,840 17,520 A 5,680
O=s22= % HMA 10,640
—dIRe3 500,000& »8& 4,000
—dgRa 400,000& 83 3,200
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2 THol ¥ Mol
tel: otESMUHF2Z 2l (HESMHHFA2 L 2tel) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- =ER= 400,000& 83 3,200
—2EFNE 30,000& »83l 240
OAIE ZHI S X 1,200
— RoIFHIAIAE 023l 150,000& 8& 1,200
202 Oddl 12,160 15,360 A 3,200
01 = LH 4 Hi 12,160 15,360 A 3,200
O3 HI 12,160
—SHEMH2E 22 100,000 «2H ~8& 1,600
—=2MEXE N3
20,0003 «3& 102 «8& 4,800
—JI=YRETOY (HY)
240,000& x2H + 123 5,760
203 B R =&l 3,000 3,000 0
03 AIMF=AH R =AH| 3,000 3,000 0
O=MORET2H RF 3,000
308 XXM SO A 3,000,000 7,000,000 A 4,000,000
0B IIEtRE= 3,000,000 7,000,000 A 4,000,000
OZMEI =023 3,000,000
401 AIEHI L 20 2,395,211 3,147,937 AT52,726
01 A& HI 2,390,211 3,138,637 AT48,426
OAIZHI 2,390,211
— ZTH & XHCH & 650& x377,000m 245,050
—=MHEXE U= 1,400& %575, 115m 805,161
—QIZ2XNEXA 200,000
—ZXNAXE &AL A 10,000
—SWEHE sX2e 80,000
—d=N7E1E Fas+ 1,000,000
—d43NFEINEYE 427 dALHEA 50,000
03 AlE S THHI 5,000 9,300 A 4,300
OAIZ 2 HI 5,000
0l Bl 8l 8,928,948 3,504,290 5,424,658
801 GilBI8I 8,928,948 3,504,290 5,424,658
01 oildl bl 8,928,948 3,504,290 5,424,658
Ououldl sl 8,928,948
MEES (M2 ) 5,000,000 5,000,000 0
HEHHXES(GHEZMHF 2 22l) 5,000,000 0 5,000,000
LHEHeHXI & 5,000,000 0 5,000,000
701 JIEtSI HE &3 5,000,000 0 5,000,000
01 JIEtZIHEES 5,000,000 0 5,000,000
OZMEHUHz 5,000,000




